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Homework 10 Review
Pretty much everybody had a building, a unit, and a tract.
Most people had a mortgagor and a building owner object.

Some things are open to interpretation, and you really need to think about them.

Miscellaneous Info

No office hours tomorrow (Wednesday, March 4).

Exam is quite long, be prepared to spread out across the room.

Last Time

The other day, we review slides that talked about three kinds of objects - Simple, Composite, and Compound.

The slides described how we could translate these objects into relations.

We also talked about the relationships between objects.
There are other kinds of objects (more than just these 3), we'll be discussing some of them today.


Since we now have an ER diagram and a semantic object model of the Metropolitan Housing Authority, it'd be a good idea to create a database that reflects this.

With a semantic object model (like we created in Tabledesigner), you just press a button, and the program performs the operation automatically.
With an ER diagram, you'll need to construct the database yourself.

p. 187, Figure 7-6. Compound objects and their relations. What happens when we put them together? Their relationship is 1-to-1. When you put them together, you're going to build two tables which have the following constraint - the locker number you entered in MEMBER must exist as a locker number in LOCKER.

Replicate this example in Tabledesigner. Make the MEMBER object and assign the appropriate attributes (MemberNumber, Name, Address). Make the LOCKER object and assign the appropriate attributes (LockerNumber, Type, Location, and MEMBER[0-1]). Add the LOCKER[1-1] object to the MEMBER object. Save the model.
Then, we use it to create a database. Schema name and data source name can be left at their default values. Choose the ODBC type.

Where does the model get saved? In the "Program Files\Tabledesigner" directory.

Note that in Access, you can't change the primary key in a table if that primary key is being used in one or more relationships. You have to delete the relationship(s) first.


1-to-N relationship (one-to-many). Look at Figure 7-7 & 7-8.

M-to-N relationship (many-to-many). Look at Figure 7-10 & 7-11. Create an Intersection Relation. The intersection relation has no data other than the two keys of the objects that are in the many-to-many relation.

Hybrid Objects
A combination of composite and compound objects. We'll have an object inside a group attribute.
p. 192 - Group Attribute is LineItem (in SALES-ORDER). Inside of that is the object ITEM. ITEM just has a set of attributes that belongs to the object itself, as do CUSTOMER and SALESPERSON. What's different about this example is that an ITEM (an object) is embedded in a group attribute in SALES-ORDER.

Each LineItem refers to a quantity, (at most) an ITEM, and an ExtendedPrice.

Why is there a subtotal? Because there's more than one ITEM.

The ItemNumber in LineItem must exist as the ItemNumber in ITEM.

Figure 7-13 describes hybrid object cardinality.

Association Objects
An object that associates two other objects.
Figure 7-15

Parent/Subtype Objects
Parent and subtype objects are related in similar ways.

Archetype/Version Objects
Compound objects that model various iterations of a basic object.


A couple of nice SQL tutorials online, look at them in order to learn how to write queries:

1. http://firstsql.com/tutor.htm 

2. http://www.1keydata.com/sql/sql.html 

3. http://www.w3schools.com/sql/default.asp 

